EATIRGGRTE [ABHEERE | X 7
112 %4581 £l —F4& (201~222) > FExH > #EL R

1-5 AADCB 610 CBBDC  11-15 BABCC ~ 16-20 DADBD
21-25 BACCA 26-30 BDBDA  31-35 BBCDB 36-40 DACAD
41-45 CBBCB 46-50 CADAC 51-55 ACADB 56-58 CDA
59-63 AE/AB/ E/BE/ B 64-68 BD/ BC/ A/ AD/ D

69-71 DCA

VEERESE Q%)

72. | exacerbate(d)

VL Vocabulary (-8 1 2 » K{FFEFRME  FRIRFHE 0 15%)

73. determine 74. reverse 78. intelligent
76. circumstances 77, automatically | 78.| mercilessly
79.| permanent 80.| hospitality 81.| exhaustion
82, economical 83. sustainably 84. accommodations
85. designated 86. manufacture 87. enthusiasm

VIL Guided Translation (54 1 2~ > 88— E 3 0.5 % BB AR —F 1 6%)

g8, account for less than 20, Aside fr0131 90. whom take pleasure in
mastering '
o1. deal with 9. Hardly can you 03, has its roots in
expect

VUI. Translation (3%)
94.

It is no exaggeration to say that /many elephants fall victim to / the traps set by tour
operators.
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Part 1: Best Response Questions (2%)
Listen to the quesz‘zon or statement and choose the best response

(A) 1. Carla prepared an abundant amount of food for the party. (12 Unit 7) #9
(A) Yeah, so there were a lot of leftovers.
(B) It’s OK. I’ll go pick up some pizza then.
(C) Right, so we left hungry and disappointed.
(D) Yes. She wasn’t thinking of so many guests.

(A) 2. Many animals migrate during the winter months. (1 Unit 2) #2
(A) Yeah. They move from one place to another place.
(B) Right. They hide themselves under the ground.
(C) Yes. They find mates when the weather is cold.
(D) True. They sleep through the whole season.

Part 2: Conversation Questions (2%)

Listen to each conversation and answer the question.
o 3. Did you hear that Jeff was sent to jail? (12 Unit 13) #19

Yes. T heard. He’s facing charges for tax fraud.

I’m in shock! I can’t believe he would do something like that.

I’m really sorry to hear about what happened.
Don’t be. He should understand that actions have consequences.
Why is Jeff in jail?

(A) He robbed a store using a weapon.
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I:  D'm still trying to process the news myself.
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(B) He broke into a house and stole money.
(C) He spread false information on the Internet.
(D) He lied to the government about his earnings.

Don’t you just hate commuting to the office? (12 Unit 11) #16
No. Actually, I kind of enjoy it.
Really? I thought hating commuting was a universal feeling.

() 4

It’s not. Not everyone thinks the same way you do.

What is the man saying?

(A) He believes people think differently.
(B) He agrees with what the woman said.
(C) He thought most people agree with him.
(D) He wants the woman to agree with him.
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Part 3: Short Talk Questions (6%) - 4

Listen to the following paragraphs and answer the questions.

Paragraph Al

Fondue is a traditional winter dish dating back to 18th-century Switzerland. Like many other comfort
foods, it grew out of necessity rather than a love of food. Back then, the Swiss had to store up food to survive
the harsh winters. Summer cheeses would harden and excess bread would go stale. Instead of wasting the food,
the Swiss melted the cheese and mixed it with white wine, herbs, and garlic. Dipping the stale bread into this
mixture softened it, and the original fondue was born. Today, the recipe for fondue is more refined, but the
main ingredients remain the same. Emmentaler and Gruyére are the most commonly used cheeses. To this day,
fondue is still a hot, satisfying meal on a cold winter day. (ZE{f & 12 Unit 10)

(B) 5. Why did the Swiss create fondue?
(A) They loved trying out new foods.
(B) They didn’t want to waste food.
(C) They wanted to start a new trend.

(D) They enjoyed eating cheese in summer.

(C) 6. What would happen to cheese during the winter?
(A) It would lose its flavor.
(B) It would fall apart.
(C) It would become hard.
(D) It would melt.

(B) 7. What is said about modern fondue?
(A) It tastes completely different.
(B) The key ingredients have not changed.
(C) Ttisno longer popular in Switzerland.

(D) People commonly eat it during the summer.

The 1969 Apollo 11 mission stands as an iconic milestone in the history of space exploration. On July
16, astronauts Neil Armstrong, Buzz Aldrin, and Michael Collins embarked on this historic journey from
Kennedy Space Center in Florida. People around the world held their breath as they watched the historic event
on TV. Armstrong became the first human to set foot on the lunar surface, with his famous words, “That’s one
small step for [a] man, one giant leap for mankind.” The mission demonstrated unprecedented technological
achievements, with the Saturn V rocket propelling the spacecraft towards the Moon. The successful Apollo 11
mission marked the realization of President Kennedy’s vision to land humans on the Moon and return them

safely to Earth, showcasing the strength of American space exploration and inspiring generations to come. (4
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(B) 8. What is the passage mainly about?
(A) A failed mission that inspired more space exploration.
(B) A successful attempt in space exploration decades ago.
(C) A tragic event happened in Kennedy Space Center in 1969.
(D) The technology developed from the Apollo 11 mission.

(DY 9.  What is NOT true about the Apollo 11 mission?
(A) It sent three astronauts to the Moon.
(B) One astronaut was able to step on the Moon.
(C) People around the world witnessed it on TV.
(D) The spacecraft didn’t return to Earth safely.

(C) 10. Why is President Kennedy mentioned in the passage?
(A) He once opposed the Apollo 11 mission.
(B) He dreamed about being an astronaut when he was a kid.
(C) The Apollo 11 mission demonstrated his vision.
(D) He initiated American space exploration as president.




